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QUESTION 1

You are building a large filesystem to maximize throughput of large files using high performance block volume and
BM.Standard2.52 as file servers. 

Which block volumes configuration should you choose to ensure aggregate Block volume throughput is higher than
network bandwidth of file servers? 

A. 7 Block Volumes of 800 GB 

B. 32 Block Volumes of 800 GB 

C. 5 Block Volumes of 32 TD 

D. 6 Block Volumes of 32 TB 

Correct Answer: D 

 

QUESTION 2

Which Message Passing Interface (MPI) distribution is NOT available today? 

A. OCI MPI 

B. Intel MPI 

C. Platform MPI 

D. Open MPI 

Correct Answer: B 

 

QUESTION 3

Compute nodes are on subnet2(l72.16.1.0/24) and there is a BM.Dense.I02.8 on subnet1. 

(1 /2.16.0.0/24) that will serve as a bastion, file server and license server. The bastion will be accessed through a public
IP with SSH. 

Which security lists should you choose for an HPC cluster? If multiple options are possible, choose the one limiting
access the most. 

A. Subnet1: 0.0.0.0 for all TCP/UDP ports, subnet2: 172.16.0.0/16 for all TCP/UDP ports 

B. Subnet1: 0-0.0.0 for TCP port 22, subnet 1 and 2: 172.16.0.0/23 for all TCP/UDP ports 

C. Subnet1: 172.16-1.0/24 for port 22, subnet2: 172.16.1.0/24 for all TCP/UDP ports 

D. Subnet1: 0-0.0.0 for TCP port 22, subnet 2: 172.16.0.0/16 for TCP port 22 

Correct Answer: C 
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QUESTION 4

Which three are available on Oracle Cloud Infrastructure (OCI) as load balancing policies? 

A. Least Connections 

B. Round Robin 

C. Random 

D. Least CPU Utilization 

E. IP Hash 

Correct Answer: ABE 

 

QUESTION 5

On Oracle Cloud Infrastructure (OCI), a customer wants to build a 3TB fllesystem for high throughput-oriented
workloads. 

Which action provides the highest IO throughput using OCI block volumes for storage? 

A. Attach one Block volume of 3TB volume size and use fllesystem Block size of 256K or lower. 

B. Attach one Block volume of 3TB volume size and use fllesystem Block size of 1M or higher. 

C. Attach three Block volumes of 1TB each and use fllesystem Block size of 256K or lower. 

D. Attach three Block volumes of 1TB each and use filesystem Block size of 1M or higher. 

Correct Answer: A 
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